
1. Choose equations true by adding parenthesis (). 

11 – 2 -1 = 10 

A. (2-1) 

B. (11-2)  



You are right! Go to next. 

  



You are wrong! Try again. 

  



2. Choose equations true by adding parenthesis (). 

11-5 -1= 7 

A. (11-1) 

B. (5-1)  



You are right! Go to next. 

  



You are wrong! Try again. 



3. Choose equations true by adding parenthesis (). 

11 – 9-1 = 3 

A. (11-9) 

B. (9-1)  



You are right! Go to next. 

  



You are wrong! Try again. 

  



4. Choose equations true by adding parenthesis (). 

12 -2 – 1= 11 

A. (2-1) 

B. (12-2-1)  



You are right! Go to next. 

  



You are wrong! Try again. 



5. Choose equations true by adding parenthesis (). 

14 – 11 -1 = 4 

A. (14-1) 

B. (11-1)  



You are right! Well done. 

  



You are wrong! Try again. 

 


